Uka Tarsadia University

Subject Name: Basics of Electrical Engineering

CH: 3 Electrostatic field and Capacitance

Coulomb/m? is the unit of

A. | Electric charge B. | Electric flux
C. | Electric flux density D. | Electric field intensity
Coulomb/m? oAl AsH .
A | sQsdls s B. | sQsdls sctal
C. | sQsdls sctat o218l D. | sQsdls (cs soeorllé)
1pF= F
A [10° B. [10°
C.|10™ D. | 107
1pF= F
107 B. [10°
C. 10" D. | 107

Two capacitors of 10 F and 15 F are connected in parallel. What will be the equivalent
value of capacitance?

A. | 6.03F B. |10F

C. | 0.166 F D.|25F

10 F 3ol 15 F otl A 30122 eActHl A3 B. sscllacie 3lleuell (5ud 9f awa?

A. | 6.03F B. |10F

C. | 0.166 F D.|25F

The capacitor of 2.5 F is connected with 20 V supply. What will be the energy stored in




capacitor?

A. | 100 joule

500 joule

C. | 10 joule

1000 joule

2.5 Foll 3022 20 V et WA H3c B, 3021l 2o1sldct Aot Secll w?

A. | 100 joule 500 joule

C. | 10joule D. | 10000 joule

The dielectric strength of air is kV/mm

A |0 B. |1

C.|3 D.|2

scllofl stasAsdls o kV/mm ©.

A |0 1

C.|3 D. |2

The ability of a capacitor to is called as a capacitance.

A. | Store charge B. | Charge and discharge
C. | Oppose current D. | Store resistance
FU{l2Rqll e cllal 3Ulec sdal.

A | yef dats sRellell B. | aof el Sl s2eltell
C. | s220i (A sl D. | 2(Rre24 2aLs s2cltell
Permitivity of vacuum is

A.|8.85* 10 F/m 8.85* 10 m/F
C.|885* 10" F/m D. | 8.85* 10 m/F
geulatsile(l uRRAGAZ) 0.

A. | 4TT* 10° F/m B. | 411 * 10" m/F




AT * 107 F/m

D. |41 * 10° m/F

8. | Newton/ Coulomb is the unit of
A. | Electric charge Electric flux
C. | Electric flux density D. | Electric field intensity
¢. | Newton/ Coulomb oll VsU B,
A | sQsdls s B. | sQsdls sctal
C. | sQsdls sctat o218l D. | sQsdls (3cs soeorllé)
9. |1uF= F
A. | 107 107
C.|10™ D. | 10°
¢ | 1uF= F
10° 107
C.|10™ D. | 107
10. | Energy stored in capacitor is given by the formula
A. | ¥ CV? B. | %CV
C.|%QV D. | % QV*
0. | 3URIZHI AoelAc Wt YL AR AU CUHT U1 B,
A. | % CV? Y% CV
C.|%QV D. | % QV?
11. | Two capacitors of 10 F and 15 F are connected in series. What will be the equivalent value
of capacitance?
A. | 6.03F B. | 10F
C. | 0.166 F D.|15F




Q. | 10 F 3ol 15 F oll A 3022 AR ul A3ct ®. escllacie 3ol (SHd 9f awa?
A. | 6.03F 10 F
C. | 0.166 F 15F
12. | The dielectric strength does not depends upon
A. | Temperature Moisture
C. | Thickness Strength of material
13. | Which of the following relation is correct?
A. | Q=CV C=QV
C. | Q=C/V Q=VIC
14 | If 2V is supplied to a 3F capacitor, calculate the charge stored in the capacitor.
A |5C 6C
C.|2C 3C
15 | A 4microF capacitor is charged to 120V, the charge in the capacitor would be?
A.|480C 480 microC
C.|30C 30 microC
16. | A capacitor consists of
A. | Two conductors Two semiconductors
C. | Two dielectrics Two insulators
17. | Capacitance increases with
A. | Increase in plate area Decrease in plate area
C. | Increase in distance between the plates Increase in density of the material
18. | Capacitance increases with

A. | Increase in distance between the plates

Decrease in plate area




C. | Decrease in distance between the plates

Increase in density of the material

19. | If a2 F capacitor has 1 C charge, calculate the voltage across its terminals.
A |05V 2V
C.|15V 1V
20. | If one plate of a parallel plate capacitor is charged to positive charge the other plate is
charged to?
A. | Positive Negative
C. | Positive or negative Not charged
21. | Calculate the capacitance of a capacitor that stores 40 microC of charge and has a voltage
of 2V.
A |20F 20 microF
C.|10F 10 microF
22. | What is the value of capacitance of a capacitor which has a voltage of 4 VV and ha 8 C of
charge?
A |2F 4F
C.|6F 8F
23. | Unit of capacitance is
A. | Volts Farad
C. | Henry Newton
24. | Farad is the unit of
A. | Resistance Capacitance
C. | Charge Voltage
25. | What is the total capacitance when three capacitors, Cy, C, and C3 are connected in

parallel?

A. | C= Cll(C2+C3)

C=C+Cr+C3

C.|C= Cz/(C1+C3)

1/C = 1/C1+1/C,+1/C4




26. | What is the total capacitance when three capacitors, C;, C, and C; are connected in series?
A. | C=C4/(C+C3) B. | C= C;+Cy+Cs
C. | C=Cy/(Cy+Cy) D. | 1/C = 1/C1+1/C,+1/C3

27. | When capacitors are connected in parallel, the total capacitance is always the
individual capacitance values.
A. | Greater than B. | Less than
C. | Equal to D. | Cannot be determined

28. | Three capacitors having a capacitance equal to 2 F, 4 F and 6 F are connected in parallel.
Calculate the equivalent parallel.
A |10F B. |11F
C.|12F D. | 13F

29. | Two capacitors having capacitance value 4 F, three capacitors having capacitance value 2
F and 5 capacitors having capacitance value 1 F are connected in parallel, calculate the
equivalent capacitance.

A |20F B.|19F
C. | 18F D.|17F

30. | When capacitors are connected in series, the equivalent capacitance is each

individual capacitance.

A. | Greater than B. | Less then

C. | Equal to D. | Insufficient data provided
31. | When capacitors are connected in series remains the same.

A. | Voltage across each capacitor B. | Charge

C. | Capacitance D. | Resistance

32. | When capacitors are connected in parallel remains the same.
A. | Voltage across each capacitor B. | Charge

C. | Capacitance D. | Resistance




33. | When capacitors are connected in series varies.
A. | Voltage across each capacitor Charge
C. | Capacitance D. | Resistance
34. | When capacitors are connected in parallel varies.
A. | Voltage across each capacitor Charge
C. | Capacitance D. | Resistance
35. | Four 10 F capacitors are connected in series, calculate the equivalent capacitance.
A |15F B.|25F
C.|35F D. | 05F
36. | Capacitor is a device used to in electrostatic field.
A. | store electrical energy B. | vary the resistance
C. | store magnetic energy D. | dissipate energy
37. | Electric flux density is
A. | Area per unit charge Charge per unit area
C. | Area per unit capacitance D. | Capacitance per unit charge
38. | Electric field intensity is
A. | Charge per unit force Force per unit area
C. | force per unit charge D. | Area per unit force
39. | What is relative permittivity?
A. | Equal to the absolute permittivity B. | Ratio of absolute permittivity to actual
permittivity of air
C. | Equal to the actual permittivity D. | Ratio of actual permittivity to absolute
permittivity
40. | What is the unit for relative permittivity?
A. | Fim Fm
C. | No unit D. | Fim?




41. | Which of the following is the type of capacitor on the basis of dielectric strength?
A. | Paper capacitor B. | Mica capacitor
C. | Ceramic capacitor D. | All of above
42. | Which of the following is the type of capacitor on the basis of configuration or shape?
A. | Spherical capacitor B. | Cylindrical capacitor
C. | Parallel plate capacitor D. | All of above
43. | Flux per unit area is known as
A. | Electric flux density Dielectric strength
C. | Electric field intensity D. | Permittivity
44. | What is the unit of electric field intensity?
A. | N/C C/IN
C. | N/m? D. | m/N
45. | A capacitor consists of
A. | Two insulators separated by a B. | Two conductors separated by an
conductor insulator
C. | Two insulators only D. | Two conductors only
46. field is associated with the capacitor
A. | Electrostatic B. | Magnetic
C. | BothAand B D. | None
47. | The property of a capacitor to store electricity is called its
A. | Capacitance B. | Charge
C. | Energy D. | None of the above
48. | For capacitors connected in parallel, the total capacitance would be

A. | Product of the individual capacitances

B.

Inverse of the sum of inverse values of




capacitors

Sum of the individual capacitances

None of these

49. | Absolute permittivity of dielectric medium is represented as
A | g B. | &
C. | &/eo D. | e
50. | Force exerted between two charged body is
A. | Directly proportional to distance B. | Directly proportional to square of
between two charged body distance between two charged body
C. | Inversely proportional to distance D. | Inversely proportional to square of

between two charged body

distance between two charged body




CH: 5 Batteries

The device which convert chemical energy in to electrical energy is known as

A. | Battery

B.

Capacitor

C. | Inductor

D.

Resistor

GusR0L ¥ B AARUMR s Gl [Agd G 3UIARA 5 ® A S EEM G
B,

A el B. | 30alle?

C. | 805522 D. | :(3ez

The capacity of a battery is expressed in terms of

A. | Current rating B. | Voltage rating

C. | Ampere hour rating D. | None of the above

Az3lofl et A 313 olctiotaudi 1A B,

A | 5202 22101 B. | dlez 22lat

C. | Aaflarz war 28t D. | Guniell 818 <13

Trickle charger of a storage battery helps to

A. | Maintain proper electrolyte level Increase its reverse capacity
C. | Prevent sulphation D. | Keep it fresh and fully charged
Ry A2lof (@5 U A H(2 HEE 52 B.

A | 8As2lElB2e] 192 AR slaclell B. | o 30018l aural

C. | uckast weslal D1 ot el iyl 30 w1 evel

The cell in which chemical action is not reversible is known as




A. | Rechargeable cell

Non-rechargeable cell

C. | Voltaic cell

Edison cell

R AAH AURQs (521 Getetell asta ol Q

SEEENMER]

A | RuBud Ad

B.

ER ARl

C. | axss Acd

D.

ALt A

The ampere -hour efficiency of battery is about

A. | 75%-80%

90 % -95%

C. | 100 %

10 %

A2 3efl B2 — WaR slRlH Al AL

0.

A. | 75% - 80%

90% - 95%

C. | 100%

10%

At no load condition, the terminal voltage of the battery is e.m.f. of the
battery.

A. | Greater Less

C. | Equal D. | None of the above

ol ALSoll RAMAML, A2lef 2(lotet dlczos W Azloll 8. AM.§. 5l 0.

Al auR B. | a0g

C. | dntot D. | Guaniell 818 <13

The group of cell connected in series and/or parallel to produce required voltage is known

as
A. | Battery Capacitor
C. | Inductor D. | Resistor

ULAUs AR Geud scll M2 Actoll o] (303 Aeual WA Hlslel




selld ®.

A | Qedl

3UReR

C. | 805522

AP

8. | To prevent sulphation which one of the following charging method is used?
A. | Boost charging B. | Trickle charging
C. | Constant voltage charging D. | Constant current charging
¢. | A&t Asall 12 ol As{luiell 56 AF UgldAoll GUADL sl ML WA B?
A | ofre oL B. | Rsct wl®ol
C. | Slreoe Ao UL D. | flrece 522 oL
9. | The electrode for a battery must be
A. | A semi conductor An insulator
C. | A good conductor of electricity D. | A bad conductor of electricity
¢. | A3l 1R 8AsAS 8ld vllcleaus ©
Al Al $s522 B. | gorj@e?
C. | logefloll As ARl cuss D. | clesollell vt cuss
10. | The watt-hour efficiency of battery is about
A. | 75% - 80% 90% - 95%
C. | 100% D. | 10%
0. | A23loll dle - sclsell staletudl cdletol ®.

A. | 75%-80 %

90 % - 95 %

C. | 100 %

10 %




11. | The terminal voltage of the battery is always e.m.f. of battery.
A. | Greater B. | Less
C. | Equal D. | None of above
Q. | Aol (ot cled sRaU A3loll ARHAS sl A B,
Al aurR B. | g
C. | et D. | Guz uiall 818 o8l
12. | Ideally the internal resistance of battery should be ohm.
A |0 B. |1
C. |11 D. |5
R. | WEA A Ae3lell Bozatct ABr2 o A& Slell A
A |0 B. |1
C. |11 D. |5
13. | The efficiency of a battery is expressed in terms of
A. | Ampere hour efficiency B. | Watt hour efficiency
C. | BothAand B D. | None of the above
14. | Battery container should be acid resistance therefore it is made up of
Glass Plastic
Wood All of the above
15. | The terminal voltage when the battery is being charged decreases with
Increasing temperature Increasing charging rate
Increasing stage of charge All of the above
16. | The open circuit voltage of any storage cell depends wholly upon

Its chemical constituents On the strength of its electrolyte




Its temperature All of the above

17. | Internal resistance of a cell is reduced to by
Using vent plug to permit gas formed Increasing the plate area
during discharge
Putting plates very close together All of the above

18. | Internal resistance of a cell is due to
Resistance of electrolyte Electrode resistance
Surface contact resistance between All of the above
electrode and electrolyte

19. | Sulphation in a lead acid battery occurs due to
Heavy charging Incomplete charging
Fast charging Trickle charging

20. | The capacity of a lead-acid battery depends on
Rate of discharge temperature
Density of dielectric All of above

21. | The capacity of a lead acid cell does not depends on its
Temperature Rate of discharge
Rate of charge Quantity of active material

22. | The capacity of a lead acid cell depends on
Amperes Watt-amperes
Watts Ampere-hours

23. | The lead acid cell never be discharged beyond
1.8V 19V
2V 21V

24,

In a lead acid battery the energy is stored in the form of




Charged ions

Chemical energy

Electrostatic energy

Electromagnetic energy

25. | Which of the following factors adversely affects the capacity of the lead acid battery?
A. | temperature of surroundings B. | Specific gravity of electrolyte
C. | Rate of discharge D. | All of the above
26. | In Ideal case, the Charging current for 200Ah battery would be ?
A |11A B. | 12A
C.|15A D.|20A
27. | In Ideal case, the Charging Time for 200Ah battery would be ?
A. | 25 hours B. | 10 hours
C. | 15 hours D. | 30 hours
28. | Specific Gravity of an electrolyte in a single cell or a battery is always
A. | Equal to 1.0 B. | Lessthan 1.0
C. | Greater than 1.0 D. | None of the above
29. | If a lead-acid cell is discharged below 1.8 V the following will happen.
A. | Capacity of cell will reduce B. | Sulphation of plates will occur
C. | Internal resistance will increase D. | All of above
30. | Battery consist of
A. | Anode cathode
C. | Electrolyte D. | All of above
31. | Following will occur if level of electrolyte falls below plates
A. | Capacity of the cell is reduced B. | Life of the cell is reduced
C. | Open plates are converted to lead D. | All above

sulphate




32. | In constant voltage charging method, the charging current from discharged to fully charged
condition.
A. | Decreases B. | Increases
C. | Remains constant D. | Becomes zero
33. | Sulphated cells are indicated by
A. | The loss of capacity of the cell B. | The decrease of the specific gravity
C. | The low voltage of the cell on D. | All of above conditions
discharge
34. | What is the principle of battery?
A. | Converts electrical energy into B. | Converts mechanical energy into
mechanical energy electrical energy
C. | Converts chemical energy into D. | Converts chemical energy into
electrical energy mechanical energy
35. | Which of the following is the requirement of battery?
A. | Long storage time B. | Compact in size
C. | Cost effective D. | All of above
36. | Which of the following is the requirement of battery?
A. | Maintenance free B. | Capable of supplying large current
C. | More Storage time D. | All of above
37. | Which of the following type of battery is non-rechargeable?
A. | Zinc-chloride battery B. | Lead-acid battery
C. | Nickel cadmium battery D. | Nickel hydride battery
38. | Which of the following battery is not rechargeable type?

A. | Nickel hydride battery B. | Lead-acid battery

C. | Nickel cadmium battery D. | Zinc-chloride battery




39. | Which of the following battery is rechargeable type?
A. | Nickel hydride battery B. | Lead-acid battery
C. | Nickel cadmium battery D. | All of above
40. | Which of the following is the electrical characteristic of battery?
A. | EM.F. B. | Internal resistance
C. | Terminal voltage D. | All of above
41. | Which of the following is the electrical characteristic of battery?
A. | Capacity B. | Terminal voltage
C. | Efficiency D. | All of above
42. | The emf of fully charged lead acid battery is
A |12V 22V
C.|175V D. |15V
43. | The emf of the battery depends on
A. | Specific gravity of electrodes Time elapsed since it was charged
C. | Temperature D. | All of above
44. | The opposition offered to the flow of current within a cell is known as of
battery.
A. | Internal resistance Internal voltage
C. | Internal capacitance D. | Internal inductance
45. | Which of the following factors affect internal resistance of battery?
A. | Area of plates B. | Specific gravity of electrodes
C. | Spacing between the plates D. | All of above
46. | If the battery capacity is 10AH means
A. | 10 A current for 1 hour 11 A current for 1 hour
C. | 5 A current for 10 hour D. | 2 A current for 1 hour




47. | Which of the following is the charging technique of lead acid battery?
A. | Constant current charging B. | Constant voltage charging
C. | BothAand B D. | None
48. | Which of the following is the charging technique of lead acid battery?
A. | Boost charging B. | Trickle charging
C. | BothAand B D. | None
49. | The process of generation of hydrogen gas at cathode and oxygen at anode when the cell
is about of fully charge condition is known as
A. | Sulphation Gassing
C. | BothAand B D. | None
50. | In alead acid battery, gassing occur during
A. | Discharging overloading
C. | Charging D. | all of the above
CH: 6 Electrical Wiring and safety
1. What is the full form of MCB?
A. | Minimum Circuit Breaker Maximum Circuit Breaker
C. | Mix Circuit Breaker D. | Miniature Circuit Breaker
1. | MCB o] y3alld 9 82
A | lollum ulBe Qs? B. | Delluu ulBe Qs?
C. | et ulEe As? D. | el ulEe Q52
2. Which of the following material is used as fuse?
A. | Carbon B. | Zinc




Wood

Rubber

o{l Aot Hiell sau HERIlaucl GUaL 425 dld duRlA B2

A | 510l B. | Bs
C. | euss D. | 202
Earthing is necessary to
A. | Avoid risk of fire due to earth leakage Avoid electric shock to human body
C. | Keep the potential of all non current D. | All of above
carrying conducting parts to zero with
respect to earth
w Y[t HE2 %331 ®.
Al @3l 5k Lol BuHA | B | Hiota 28l s s wiuslell
claal claal
C. | allotoll deeini ol allot-s22 33t | D | Guretl ot o

£55210L WA A WeRad u?
AUl

Fuse is always connected in

with phase wire.

A. | Series Parallel

C. | Both series and parallel D. | None of above
$405 SR 303 cllAR WA Hi B Sl B,

Al R B. | et

C. | ol IR ua D. | Guauiall 818 o3

In Multi-stage building lighting which one of the following wiring system is used?

A

Series wiring

B.

Parallel wiring




C. | Stair-case wiring

Go-down wiring

2l olleslol cugBotHl o{lAHI 58 claBF ol ReH duRiL 82

AL ARy awaBoL

B.

WAA alu(3at

C.l 2 3x aaBal

D.

IUSIGet ctuFaL

The capacity of switches in domestic lightning is

A.|5Aand 15 A

10 A and 100 A

C.|25Aand 15 A D. | 15Aand 100 A
AR s clls@atnl 2lausdl 3012l .

A l5ABA15A B. 110 A0 100 A
C.los Auad 15 A D. | 15 A1 100 A

In Christmas lighting which one of the following wiring system is used?

A. | Series wiring

B.

Parallel wiring

C. | Stair-case wiring

D.

Go-down wiring

glaHA cusComl llAuH e 58 ARl RreH auRi 8?

A llR% ctaBat B. | et ctaBat

C. | 2 3 cwaFor D. | 50s1Get cttaBat
The parallel wiring is not used for

A. | House appliances Switchboard wiring
C. | Industrial loads D. | decoration lighting

WAA a3l

2 Ul ol astat




A | slGY Al

[l 6§ atalal

C. | gostdlact As

Yalletot csslEol

9. | The size and type of cable is selected for installation according to
A. | Nature of condition B. | Operating voltage
C. | Current carrying capacity D. | All of above
¢, | 8RLAAA HI2 SeEo(l UBX A 218U YHRL UAE $cllHl a9,
Al quredd @R B. | 20udlol A2
C. | s22 3ot 34\ D. | GURell vl %
10. | The material used for cable conductor is
A. | Carbon Rubber
C. | Copper D. | Porcelain
0. | 50 $552R HI2 HRAAA cuR A B.
A | slolat B e
C. | fluz D. | Qcllat
11. | The type of wiring depends on
A. | Durability Cost
C. | Safety and appearance D. | All of the above
M. | AR usi? UR ALULR AW B,
A | 2slGuy B. | Bud
C. | dcudl wal 2uia D. | GURell vl
12. | Which one is the characteristic of fuse element?




A. | Low melting point Low conductivity
C. | High cost D. | None of above
R. | 12 AdlHeodl clal@sdl ¢ 82
A | A1y Nedlol Wée B. | 206l cllgsll
C.l aud Bud D. | GuR digll 818 13
13. | What is the full form of UPS?
A. | Uninterrupted Power Supply Unified Power Supply
C. | Unused Power Supply D. | Universal Power Supply
3. | UPSe] 1y otlH 9| 8?
A | uoltelzR B S UlaR ALl B. | ylsiess ulcR e
C. | uetyms ulaR Al D. | yRladd uaR Al
14. | Which of the following material is not used as fuse?
A. | Copper Zinc
C. | Wood D. | Platinum
¥, | ollAetiHiell sal 1R IaudA GUIL 2405 33 Ul o1ell?
A | BluR B. | oAls
C. | cuss D. | \@Retn
15. | Switch is always connected with
A. | Phase wire Neutral wire
C. | Earth wire D. | None of above
. |l enau AA A AA A B




A ¥ alaR

B. | Rlect clta1R

C. | wdl ataR

D. | GuR uigll Sle o8l

16. | Indecoration lighting which one of the following wiring system is used?

A. | Series wiring B. | Parallel wiring

C. | Stair-case wiring D. | Go-down wiring
g, | Yalletol clsRotui ollAottHiell 58 clauFot QM auiA B2

A llRx ctaBat B. | et ctaBa

C. | @2 3 caraFaL D. | 5Us1Get cttaiBFal
17. | The parallel wiring is used for

A. | Go-down or tunnel lighting House appliances

C. | Stair-case lighting D. | decoration lighting
9. | Wdd aalRFat HI2 duRA D,

A | 30sIGet AUl 2olct cUs@at B. | slGu Acttasllu

C. | ®2 3 cuslEol D. | yalletet cltssRot
18. | The material used for cable insulator is

A. | Aluminium Rubber

C. | Copper D. | Zinc
U. | BUA BoRJAAA M2 HRIlAA cauRla B,

A | AePRAan B. | u2

C. | sluz D. | Bs
19. | In which type of wiring one lamp is controlled by two sources?




A. | Series wiring

Parallel wiring

C. | Stair-case wiring

Go-down wiring

E. | sl Usletl ctaRFoHl Als Aru A A Al gL (IR et 82
A% caaBat B. | et cuuFat
C. | 3 craPot D. | 50-s1Get cttaBat
20. | Which one is not the characteristic of fuse element?
A. | Low melting point B. | Low conductivity
C. | Low cost D. | All of above
R0. | 58 A5 2% WANAl cllat@sdl otell?
A1 o1y st B. | 208 cltssdl
C. | 26l Bt D. | Guzuiall 8 o8l
21. | Full form of ELCB is
A. | Earth Leakage Circuit Breaker Electrically Leakage Circuit Breaker
C. | Earth Linked Circuit Breaker D. | Electrically Linked Circuit Breaker
1. | ELCB of yual sl ®
A el (@ ulBe As? B. | sQlescll @ uEe Qs
C. | el [@ss a8z As? D. | sAlspscll [@ss ulSe Qs
22. | Fuse is always connected in series with
A. | Phase wire Neutral wire
C. | Earth wire D. | None of above
R. | KRR Ui lslAct sl 8




2 cllAR

o2 cll2AR

U AR

GuRHiell 818 alsl

23. | The protection against small leakage current is provided by
A. | Fuse B. | MCB
C. | ELCB D. | None of above
3. | slloll (A3 s22 AN 8l GlRL Y3 WSl A B,
A. %03 B. | MCB
C.|ELCB D. | GuAsciuiall 818 el otell
24. | Normally how many terminals are there in electrical socket outlet?
A |7 B. |4
C.|6 D. |3
R¥. | WHLeA A sAR s Wde wGeAHL dectl 2(Holc sla B2
A |5 4
C.|6 D. |3
25. | Do not use electric appliances, if
A. | It is damaged B. | wires are exposed
C. | 1t works properly D. | bothaand b
26. | One of the main functions of personal protective system is to provide a resistance
path for a short circuit.
A. | High Low
C. | Smooth D. | adequate
27. | Generally earthing is provided for




A. | only for the safety of the equipment B. | only for the safety of the operating
personnel
C. | both (A) and (B) D. | none of the above
28. | The objective of the earthing is
A. | To provide as low resistance possible B. | To provide as high resistance possible
to the ground to the ground
C. | To provide flow of normal currents D. | None of the above
29. | Which of the following is the type of wiring?
A. | Series wiring Go-down wiring
C. | Stair case wiring D. | All of above
30. | Factors affecting wiring system are
A. | Accessibility Maintenance
C. | Safety D. | All of above
31. | Which of the following accessories are used for electrical wiring?
A. | Switch B. | Plug
C. | Fuse D. | All of above
32. is a manually operated device used to make and break an electrical circuit
according to requirement
A. | Switch fuse
C. | Wire D. | Plug
33. is a metal wire connected in series with a circuit to protect the circuit in
the event of short circuit or overload.
A. | Switch Plug
C. | Fuse D. | Socket




34. | Which are types of plug used in electric wiring?
A. | Two pin plug B. | Three pin plug
C. | Bothaandb D. | None
35. | Which of the following is the type of lamp holders?
A. | Batten lamp holder B. | Pendant lamp holder
C. | Angle lamp holder D. | All of above
36. | Which of the following is the component of Fluorescent Tube wiring?
A. | Starter B. | Switch
C. | Choke D. | All of above
37. | Home appliances works on
A. | 230V AC 400V AC
C. |50V AC D. | 765V AC
38. | Which of the following device which supplies power to a load when main supplies or input
power source fails?
A. | UPS MCB
C. | Fuse D. | ELCB
39. | Switch used for stair case wiring is
A. | One way switch Two way switch
C. | Push button switch D. | None of these
40. | VIR means
A. | Vulcanized Indian rubber Vulcanized intra rubber
C. | Vulcanized inter rubber D. | Vulcanized insulation rubber
41. | PVC means
A. | Poly-volume chloride Poly-vinyl cable
C. | Phase-vinyl chloride D. | Poly-vinyl chloride




42. | Which of the following is not a wiring accessory?
A. | Cable B. | Plug
C. | Hammer D. | Socket outlet
43. | The size and type of cable is selected for installation according to Operating voltage.
A. | True B. | False
44. | ldentify the wiring accessories among the following
A. | Hammer B. | Pliers
C. | Screw driver D. | cable
45. | Which of the following is Wiring cable Material?
A. | Tough rubber sheathed B. | Poly-vinyl chloride
C. | Vulcanized Indian rubber D. | All of above
YU Tough rubber sheathed is wiring cable material.
A. | True B. | False
46. | Generally which colour is used to identify phase wire?
A. | Red B. | Yellow
C. | Blue D. | All of above
wg. | Black colour is used to identify phase wire.
A. | True B. | False
47. | Generally which colour is used to identify neutral wire?
A. | Black B. | Red
C. | Yellow D. | Blue
48. | Generally which colour is used to identify ground wire?

A

Blue

B.

Green




Red

Orange

49. IS used to provide a tapping to pendant lamp, florescent tube or a ceiling fan
through a flexible wire.
A. | Switch Fuse
C. | Ceiling rose Socket outlet
50. | Base of ceiling rose is made of
A. | Bakelite Porcelain
C. | BothAand B Copper




Unit 1: Fundaments of Electric circuits

1. | A body contains electrons more than its normal number has
+ve charge

—ve charge

No charge

None of the above

2. | The Sl unit for measurement of electric charge is
volt

columb

ohm

farad

3. | The following is (are) the semiconductor(s)
Silicon

Germanium

Carbon

All of the above

4. | Kilowatt-hour(kWh) is a unit of?
a) Current

b) Power

c) Energy

d) Resistance

5. | The Sl unit of power is?
a) kW(Kkilo-watt)

b) J/s(joules per second)
c) Ws(watt-second)

d) J/h(joules per hour

6. | Which among the following is a unit for electrical energy?
a) V(volt)

b) kwWh(kilowatt-hour)

c) Ohm

d) C(coloumb)

7. | The resistance of pure metals

a) Increases with an increase in temperature

b) Decreases with an increase in temperature

c) Remains the same with an increase in temperature
d) Becomes zero with an increase in temperature

8. | The resistance of insulators

a) Increases with an increase in temperature

b) Decreases with an increase in temperature

c) Remains the same with an increase in temperature
d) Becomes zero with an increase in temperature

9. | Which of the following statements are true about metals?
a) Metals have a positive temperature coefficient

b) Metals have a negative temperature coefficient

c) Metals have zero temperature coefficient

d) Metals have infinite temperature coefficient

10] Which of the following statements are true about insulators?
a) Insulators have a positive temperature coefficient




b) Insulators have a negative temperature coefficient
c) Insulators have zero temperature coefficient
d) Insulators have infinite temperature coefficient

11

What is the unit of temperature coefficient?
a) ohm/centigrade

b) ohm-centigrade

c) 1/centigrade

d) centigrade

12

A wire of length 2m and another wire of length 5m are made up of the same
material and have the same area of cross section, which wire has higher resistance?
a) Both have equal resistance

b) The 2m wire has higher resistance

c) The 5m wire has higher resistance

d) The value of resistance cannot be determined from the given data

13

The reciprocal of resistivity is
a) Conductance

b) Resistance

c¢) Conductivity

d) Impedance

14

The reciprocal of resistance is
a) Conductance

b) Resistance

¢) Conductivity

d) Impedance

Unit 2: Basic DC circuit
1. Flow of electrons is known as
A. | Voltage B. | Current
C. | Power D. | Resistance
1. | 85l ydls dE vlauw iy 8.
A. | |0 B. | 522
C. |yl D. | Aeeu
2. Unit of resistance is
A. | volt B. | Ampere
C. | Ohm D. | Mho
Q.| Uhresyell AsH 2
A | dle B. | anflar
C. | la D. | dle




The of insulating materials is low.
A. | Resistance B. | Ampere
C. | Conductivity D. | Specific resistance
4. What is the unit of resistivity?
A.| ohmm B. | Ohm
C. | ohm/m D. | m/ohm
¥, | A»eldleledl Asu g &2
A.| ohmm B. | Ohm
C. | ohm/m D. | m/ohm
5. 1 kQ = Q
A ]10°Q B. | 10°Q
C. | 10°Q D. [ 10°Q
y |1kQ= Q
A [10°Q B. [ 10°Q
C. | 10°Q D. [ 10°Q
6. | The resistance of a wire inversely proportional to_
A. | Length B. | Temperature
C. | Specific resistance D. | Area
€. | dlRell (e QU UHIRHI 8.
Al quly B. | dluHlet
C. | Alsls A D. | 450
7. | The direct current quantity is
A. | Changing its magnitude but not change | B. | Changing its direction but not change
its direction with respect to time its magnitude with respect to time
C. | Changing its magnitude and direction D. | Does not change its magnitude and
with respect to time direction with respect to time
8. | Cosine of the angle between voltage and current is known as
A. | Power factor B. | Peak factor
C. | Form factor D. | R.M.S.value
9. | What is the value of form factor?
A | 111 B. |25
C.|141 D. | 0.637
10. | An alternating EMF is represented by e= 400sin120xt V. What is the value of frequency?
A. | 50 Hz B. | 25 Hz
C. | 60 Hz D. | 55Hz




90. | W5 W[ 8. 90U 5.9 e= 400sin120xt V dS cdldld 8. glsalell A5Ud gf alu?
A. | 50 Hz B. | 25Hz
C. | 60 Hz D. | 55 Hz
11. | The ratio of maximum value by rms value is known as
A. | Peak factor B. | Form factor
C. | Power factor D. | Average value
12. | As the temperature increases, the resistance of insulator
A. | Increases B. | Decreases
C. | No change D. | None of above




13 | Unit of voltage is
A. | Volt B. | Ampere
C. | Ohm D. | Watt
1. | dleell AsH 2
A | dle AnlR
C. | la D. | dle
14 | The resistivity is also known as
A. | Specific Resistance B. | Specific Conductance
C. | Reluctance D. | Resistance
15 of the material is defined as the opposition to the flow of current.
A. | Conductance B. | Voltage
C. | Resistance D. | Reluctance
3. | S22l vdl&ell daRlya |y Al yldyd salMi1d 8,
A. | sessead B. | dle2%
C. | Adet D. | dgsze
16 | If temperature increases the resistance of conductor
A. | Increases B. | Decreases
C. | No change D. | None of above
¥. | % dlutiet 4l dl dlssell e
A. | gy e
C. | slo wedld oRe D. | GurHlell 519 «Re
17 tt hour is the unit of

B. | Electric capacity

Wa
A. | Electric power
C. | Electric energy

D. | Electric charge




U, | dlexdr ¥ Al wsH B,
A. | 9asils uldR pasls 5U12l
C. | 8asdls Wi D. | gdsls uf
18 | Rate of doing work is
A. | Energy B. | Power
C. | Joule D. | Potential
S | SIUH Slell €2 2]
A. | A uldR
C.|%d D. | yl2ewqud
19 |[1MQ=
A [ 10°Q B. | 10°Q
C. | 10°Q D. [ 10°Q
9. |[I1MQ-=
A [10°Q B. |10°Q
C. | 10°Q D. [ 10°Q
20 | Which one of the following statements is true?
A. | Unit of emf is volt while the unit of | B. | Unit of emf is watt while the unit of
potential difference is watt potential difference is watt
C. | Unit of both emf and potential D. | Unit of both emf and potential
difference is volt difference is watt
¢. | <lAsmidl sydadiel AR D?
A | 94 ug . AsY dlee B IR B. | 9. 04 x5 usH dle @ IR
Ulowd Slseell W54 dle 8. Ul2owd Slgeell A sH dle 8.
C. | 9.2, o Uleewyyd Slged D. | &A1 A, wel Uleewiyd Slse
Welell A sH dle 8. Welell AsH qle 8.
21 | The alternating current quantity is
A. | Changing its magnitude but not change | B. | Changing its direction but not change
its direction with respect to time its magnitude with respect to time
C. | Changing its magnitude and direction D. | Does not change its magnitude and
with respect to time direction with respect to time
€. | ugReRRa 552 wdletoeclecl W




A | o qHY AIA el goHbg A wle@ 60 | B | o iy 18l wofl 2e011 vded S uwl
Hel Mo A Wedld g eleld),
28211 viedd o8,

C. D.

% UMY A Wl 5 U Y el QL
Weq

eed oiefl.

8.
22. | The ratio of r.m.s. value to average value is known as
A. | Power factor B. | Peak factor
C. | Form factor D. | Maximum value
23. | An alternating EMF is represented by e= 400sin120xt V. Maximum value of voltage
A. | 400V B. | 300 V
C.|150V D. | 100V
9. | W5 WeRAR(33] © WM. 5.9 e= 400sin120nt V AS Wdldl 8. Al HedH ASHd
LYy,
A. | 400V B. [ 300V
C.|150V D. | 100V
24. | An alternating current is represented by 1= 200sin150xt A. What will be the value of
angular velocity?
A. | 100x B. | 150n
C. | 125z D. | 150
25. | An alternating current is represented by 1= 20sin100xt A. What will be the value of angular
velocity?
A. | 100w B. | 150n
C. | 125z D. | 150
26. | An alternating EMF is represented by e= 440sin120xt V. Maximum value of voltage
A. | 220 B. | 440
C. | 230 D. | 44.0
27. | Unit of current is

A. | Ohm

| B. | VoIt




C. | Ampere D. | Watt
28. | R=
A. | pl/a B. | pl/)2a
C. | Pla D. | None of the above
29. | Resistance of a conductor is depend upon
A. | Temperature B. | Material of conductor
C. | Length of conductor D. | All of the above
30. | Resistance is :
A. | Support the electric current B. | Break the electric current
C. | Oppose the electric current D. | None of the above
31l. | 2MQ =
A. | 2*10° Q B. | 2¥10° Q
C. | 2*10°Q D. | 2¥10°Q
32. | ImQ =
A [ 10°Q B. [ 10°Q
C. | 10°Q D. [ 10°Q
32. | 1pQ =
A [10°Q B. [10°Q
C. | 10°Q D. | 10°Q
33. | Unit of potential difference is
A. | Ohm B. | Volt
C. | Ampere D. | Watt
34. | Materials which easily allow the passage of electric current are known as _
A. | Conductor B. | Semiconductor
C. | Insulator D. | None of the above

35.

Materials which may or may not allow the passage of electric current are known as

A. | Conductor

B.

Semiconductor

C. | Insulator

D

None of the above

Materials which cannot allow the passage of electr

36. ic current are known as _
A. | Conductor B. | Semiconductor
C. | Insulator D. | None of the above




13. | If voltage supplied to circuit is 15 V and resistance of the circuit is 3 ohm then what will
be the value of current flowing through circuit?

A . |5A B. | 25A
C.|3A D.|15A

13. | %] U812 AdH] Hlddl dley 15 V e (32 3 ohm &l dl A8l Hiell udR
Ad) $32 Bedl YlU?
A |5A B. [25A
C.|3A D.|15A

14. | If three resistances of 20 Q, 15 Q and 50 Q are connected in series any circuit, what will be
the equivalent resistance of circuit?
A. | 80Q B. | 82Q
C.|85Q D. |86 Q

15. | What is the relation of ohm’s law?
A | VaR B.  laR
C. | VIR = constant D. | Val

16. | If resistors Ry, Roand Rz are connected in series, then what will be the equivalent
resistance?
A.lR=R1+R2+R3 B. | R=1/R1 +1/R2 + 1/R3
C.|1/R=1/R1+1/R> + 1/R3 D. | 1/R=R1+R2+Rs

17. | Resistors of 10 ohm and 20 ohm are connected in parallel. What is the equivalent
resistance?
A |25Q B. | 6.67Q
C.10.15Q D. | 1.67Q




18. | In duality concept, the voltage source can by replaced by source.
A. | Current B. | Resistance
C. | Inductor D. | Power
19. | Which of the following is the equation of electric power?
A. | P=VR B. | P=V°R
C.|P=VR D. | P=VII
Q. | oflAell H1e] 8aAE2S UldRe] M5 53 B2
A. | P=VR B. | P=V°R
C. | P=V’R D. | P=VII
20. | The current flowing through whole circuit is same for circuit
A. | Parallel B. | Series
C. | Star D. | Delta
21. | KVL states that in a closed circuit of the electric network _
A |XV=0 B.|2I1=0
C.|2R=0 D.|XP=0
22. | An ideal current source should have
A. | Zero internal resistance B. | Infinite internal resistance
C. | Large value of emf D. | None of above
.| ALY 522 MMM UL elg o,
A. | goeldR (e et Y 2016l Apo2edod Weld
C. | 924,500l 112 A5Ud D. | Guruidl sl «Re




23. | If in any delta network resistance Ri>= 12 ohm, R23= 3 ohm and Rz1=5 ohm then, What
will be the equivalent star resistance R,?
A. | 1.8 ohm B. | 2ohm
C. | 2.50hm D. | 1.1 ohm
24. | Three resistance each has value of 20 ohm are connected in delta network. Calculate the
value of resistance for equivalent star network.
A. | 30 ohm B. | 6.67 ohm
C. | 60 ohm D. | 20 ohm
13. | If voltage supplied to circuit is 10 V and resistance of the circuit is 5 ohm then what will
be the value of current flowing through circuit?
A |22A B.|21A
C.|2A D.|1A
13. | %) Uslea WU H1dd] dle% 10 V el (322 5 ohm Eld dl 42512 Uil udR
edl s 526 ULY?
A |22A B.|21A
C.|2A D.[1A
14. | If three resistances of 10 Q, 20 Q and 30 Q are connected in series circuit, what will be the
equivalent resistance of circuit?
A. | 60Q B.|50Q
C.|70Q D. |40 Q
15. | What is the relation of ohm’s law?
A | V=IR B. |[laR
C. | VIR = constant D.|VI=R




16. | Resistors of 5 ohm and 2 ohm are connected in parallel. What is the equivalent resistance?
A. | 1.43 ohm B. | 3ohm
C. | 4 ohm D. | 0.7 ohm
17. | Which of the following is not limitation of ohm’s law?
A. | It depends on temperature. B. | Itis only used for linear circuits.
C. | Itis applicable to DC circuits. D. | Itis applicable for inductive ac circuits.
18. | In duality concept, the inductor can by replaced by
A. | Conductor B. | Resistor
C. | Capacitor D. | Voltage
19. | Which of the following is the equation of electric power?
A. | W=VR B. | W=V°R
C. | W=VI D. | W=V/I
Q. | cildetl Yiell 8as2s UldRe] qH15Q 53 82
A.TW=VR B. | W=V°R
C. [ w=VI D. [ W=V/I
20. | The voltage across each resistor connected in the circuit is same.
A. | Parallel B. | Series
C. | Star D. | Delta




21. | KCL states that at a junction in any electric network
A |XV=0 B.[21=0
C.|2R=0 D.|XP=0
9. | KCL %lold 895 52 S16URL 98 s sl2d Sell 5ol UR
A | 2V=0 B.|21=0
C.|2R=0 D. | XP=0
22. | If in any delta network R12= 12 ohm, R23= 3 ohm and R3:=5 ohm then, What will be the
equivalent star resistance R1?
A. | 2 ohm B. | 3ohm
C. | 20 ohm D. | 50hm
23. | Three resistance each has value of 10 ohm are connected in star network. Calculate the
value of resistance for equivalent delta network.
A. | 30 ohm B. | 10 ohm
C. | 100 ohm D. | 20 ohm
24. | If resistances of 5 ohm and 20 ohm are connected in series and supply voltage is 100 V.
What will be the value of current?
A |4A B.|5A
C.|7TA D.|10A
R¥. | %1 5 ohm A 20 ohmetl W) AU HRRUL W13 Sl wel A1y dle2%s 100 V Sl
dl s22¢fl 25Hd Q Al4?
A |4A B. | 5A
C.|7A D.|10A
25. | If resistances of 10 ohm and 25 ohm are connected in series and supply voltage is 100 V.

What will be the value of current?




A.|20A B. | 25A
C.|285A D.|30A
26. | If two resistances of 23 ohms are connected in series and supply voltage is 230 V. What
will be the value of current?
A.|20A B. | 5.0A
C. | 4.0A D.|3.0A
27. | If three resistances of 20 Q, 40 Q and 60 Q are connected in series any circuit, what will be
the equivalent resistance of circuit?
A. | 120 Q B. | 125 Q
C.|122Q D. | 115Q
28. | Resistors of 1 ohm and 6 ohm are connected in parallel. What is the equivalent resistance?
A. | 6 ohm B. | 7ohm
C. | 0.850hm D. | 0.7 ohm
29. | Two Resistors of 2 ohm are connected in parallel. What is the equivalent resistance?
A. | 20ohm B. | 4 ohm
C. | 1ohm D. | 2.5 ohm
30. | If voltage supplied to circuit is 10 V and resistance of the circuit is 2 ohm then what will
be the value of current flowing through circuit?
A . |5A B. | 25A
C.|3A D.|15A
31. | The across each resistor connected in the parallel circuit is same.
A. | Voltage B. | Power
C. | Current D. | Resistance
32. | The passing through each resistor connected in the series circuit is same.
A. | Voltage B. | Power
C. | Current D. | Resistance
33. | If resistors Ry, Rz and Rz are connected in series, then what will be the equivalent
resistance?
A.|R=Ri1+R2+Rs B. | Ri=R-Rz-Rs
C. | R2=R-Ri-R3 D. | All of the above

34.

If resistors R1, R2 and Rz are connected in series, then what will be the equivalent
resistance?

A. | 1/R=1/R1 +1/R2 + 1/R3 B. | R=1/(1/R1 + 1/Rz2 + 1/R3)

C. | Both Aand B D.|1/R=Ri1+R2+R3

35

If there are two bulbs connected in series and one blows out, what happens to the other
bulb?

a) The other bulb continues to glow with the same brightness

b) The other bulb stops glowing

¢) The other bulb glows with increased brightness

d) The other bulb also burns out

36

If two bulbs are connected in parallel and one bulb blows out, what happens to the other
bulb?

a) The other bulb blows out as well

b) The other bulb continues to glow with the same brightness

c) The other bulb glows with increased brightness

d) The other bulb stops glowing

37

What is the basic law that has to be followed in order to analyze the circuit?




a) Newton’s laws
b) Faraday’s laws
€) Ampere’s laws
d) Kirchhoft’s law

38

The sum of the voltages over any closed loop is equal to
a) 0V

b) Infinity

c) 1V

d) 2V

39

KCL means

a) Kirchhoff’s Capacitor Law
b) Kirchhoff’s Current Law
¢) Kirchhoff’s Voltage Law
d)None of the above

40

KVL means

a) Kirchhoff’s Variable Law
b) Kirchhoff’s Current Law
¢) Kirchhoff’s VVoltage Law
d)None of the above

41

2 1 =0 states
a) KVL b) KCL
¢) Ohms Law d)None of the above

42

V=0
a) KVL b) KCL
c) Ohms Law d)None of the above

43

Which of the following statements are true?

a) Power is proportional to voltage only

b) Power is proportional to current only

c) Power is neither proportional to voltage nor to the current
d) Power is proportional to both the voltage and current

44

A 250V bulb passes a current of 0.3A. Calculate the power in the lamp.
a) 75W
b) 50W
c) 25W
d) 90W

45

KCL state

a) Algebraic sum of all incoming current is equal to all outgoing current
b) Algebraic sum of all current at node is equal to zero

c)Both A and B

d)None of the above

46

KVL state

a) Algebraic sum of voltage rise is equal to all voltage drop in circuit
b) Algebraic sum of all voltage at node is equal to zero

c)Both A and B

d)None of the above

47

If three resistance (R1, R2 & R3) are connected in series (Where VV=Potential difference,
I=Current) then

V=1R1+ IR2 + IR3

V =1I/R1+I/R2 + I/R3

I =VR1+VR2 + VR3



https://www.sanfoundry.com/basic-electrical-engineering-questions-answers-kirchhoffs-current-law/
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I =V/R1+ V/R2 + V/IR3

48 | If three resistance (R1, R2 & R3) are connected in parallel (Where V=Potential difference,

I=Current) then
V =
V=1/R1+I/R2+I/R3
I=VR1+ VR2+VR3
| =V/R1 + V/R2 + VIR3

IR1 + IR2 + IR3

Ch:4 Electromagnetic induction

1. | Fleming’s left hand rule is used to find the direction of

A. | Statically induced emf B. | Dynamically induced emf

C. | both statically and dynamically induced | D. | Force produced when a current
emf carrying conductor is placed in a

magnetic field
2. | The value of self induced emf is

A. | inversely proportional to number of B. | inversely proportional to square of
turns number of turns

C. | directly proportional to number of turns | D. | directly proportional to square of

number of turns

3. | The direction of dynamically induced emf can be found by using

A.

Right hand rule

B.

Cork screw rule

C.

Fleming’s left hand rule

D.

Fleming’s right hand rule




4, 500 mH = H
A.| 05 B. | 0.05
C.|5 D. |50
5. | The magnetic flux is measured in :
A. | Weber B. | weber/m*
C. | m°/weber D. | weber/m®
NA2s sael TRIVCTRT RN
A. | Weber B. | weber/m?
C. | m°/weber D. | weber/m®
6. | The is defined as the total number of lines of force in a magnetic field.
A. | Magnetic flux B. | Magnetic flux density
C. | Magnetic pole D. | Magnetic strength
3%, | D215 565U sluuell 56 dloey dild dulgdd saIMi
219 8.
A | Qs sae B. | A12ls Sl
C. | 932ls Wl Da1als 40098
7. | The device which transfers power from one circuit to another circuit at same frequency is
known as
A. | Motor B. | Generator
C. | Inductor D. | Transformer
39. | B GUSWL WS % §lsdaR{] U UldRa w5 Yrsleuldl ol dsleuiAusR 52 A
d5 Ny B,
HleR %2R
C. | po5532 D. | 2As4sIHHR
8. | The conversion from electrical energy to mechanical energy takes place in
A. | Motor B. | Generator
C. | Inductor D. | Transformer




9. M.M.F. of magnetic circuit is analogous to in electrical circuit.
A. | Electric current B. | Current density
C. | Electro motive force D. | Resistance
10. | The reluctance of a material is defined as
A. | Opposition offered to the magnetic | B. | Its ability to conduct magnetic flux
field
C. | Opposition offered to the electric field | D. | None of above
¥o. | H2iludql lasiy W d3l5 culuAldyd 91y 9.
A | Qa8 25659 162 Uddl daRly B. | A3lkes sa@iui dset Udlel gHdl
C. | pasdls 25659 w152 Ud)l daRlY D. | Gurule]] 519 e
11. | Hysteresis loss in magnetic material depends on _
A. | Area of hysteresis loop B. | Frequency of reversed field
C. | Volume of magnetic material D. | All of above
12. | If two inductors having inductances of 1 mH and 5 mH are connected in series, then what
will be the value of equivalent inductance of the circuit?
A. | 6mH B. | 25 mH
C.|15mH D. | 52mH
13. | The direction of force produced when a current carrying conductor is placed in a magnetic

field can be found by

A. | Fleming’s right hand rule

B.

Coulomb’s law

C. | Lenz law

D.

Fleming’s left hand rule




14. | The magnitude of dynamically induced emf is given by
A.|Blvsing B. | Blvcos®
C.|Blvsing D.|Bllsin®

15 | Area of hysteresis loop shows
A. | Hysteresis loss B. | Eddy current loss
C. | Both hysteresis and eddy current loss D. | Copper loss

16. | 100 mH = H
A. |01 B. | 0.01
C. |1 D. |10

3%. | 100mH = H
A.| 0.1 B. | 0.01
C. |1 D. |10

17. | What is the unit of inductance?

A. | Farade B. | Ohm
C. | Henry D. | Mho

18. | The magnetic flux density is measured in .

A. | Weber B. | weber/m*
C. | m%/weber D. | weber/m®
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A. | Weber B. | weber/m?
C. | m?/weber D. | weber/m®

19. | The magnetic flux is defined as the total number of in magnetic field.
A. | Lines of force B. | Magnetic density
C. | Magnetic pole D. | Magnetic strength

20. | The device which step up or step down the voltage level at same frequency is known as
A. | Motor B. | Generator
C. | Inductor D. | Transformer
21. | The conversion from mechanical energy to electrical energy takes place in
A. | Motor B. | Generator
C. | Inductor D. | Transformer
22. | E.M.F. of electrical circuit is analogous to in magnetic circuit.
A. | M\M.F. B. | Reluctance
C. | Flux D. | Flux density

23. | The opposition offered to the magnetic field is defined as




A. | Reluctance B. | M.M.F.
C. | Flux density D. | Field intensity

24,

If two inductors having inductances of 10 mH and 15 mH are connected in series, then
what will be the value of equivalent inductance of the circuit?

A. | 50 mH B.|25H

C.|52H D. | 25 mH

25.

The device which transfers power from one circuit to another circuit at same
frequency is known as transformer.

A) True

B) False

26

2000 mH = H
a) 0.2
b) 2
c¢) 0.02
d) 20

27

1000 pH = H
a) 0.1
b) 0.01
c) 0.001
d) 1

28

The total number of magnetic field lines passing through an area is termed as?
a) Voltage

b) EMF

c) Magnetic flux

d) Magnetic flux density

29

The formula for induced emf if magnetic field, length and velocity of conductor all are
mutually perpendicular is

a) EMF=B?|

b) EMF =Bil

c) EMF =Blv

d) EMF =B%

30

What does emf stand for?
a) Electronic magnetic force
b) Electromotive force




c) Electromagnetic force
d) Electromated force

31

Unit of EMF is
aym

b) Voltage

c) Amp

d) Wb

32

According to Faraday’s laws of electromagnetic induction, an emf is induced in a
conductor whenever?

a) The conductor is perpendicular to the magnetic field

b) Lies in the magnetic field

c¢) Cuts magnetic lines of flux

d) Moves parallel to the magnetic field

33

According to Fleming’s right hand rule, the thumb points towards?
a) Current

b) E.M.F.

¢) Motion of the conductor

d) Magnetic flux

34

According to Fleming’s right hand rule, the index finger points towards?
a) Current

b) E.M.F.

c¢) Motion of the conductor

d) Magnetic flux

35

According to Fleming’s right hand rule, the middle finger points towards?
a) Current

b) E.M.F.

c) Motion of the conductor

d) Magnetic flux

36

The relation between the direction of induced emf and the direction of motion of the
conductor is?

a) Parallel

b) Equal

¢) Not related

d) Perpendicular

37

Which, among the following, is the formula for induced emf?
a) e=d¢ /dt

b) e=dt/d¢

C) e=t*d

d) e=t?}

38

According to induced emf is equal to rate of change of magnetic
flux.

a) Newton’s law

b) Lenz law

c) Faraday’s law

d) Coulomb’s law

39

What is the principle of the transformer?
a) Gauss law

b) Coulomb’s law

¢) Electromagnetic induction

d) Ampere’s law




40

Permeability of free space is also known as
a) Magnetic constant

b) Electric constant

c) Electrostatic constant

d) Magnetostatic constant

41

Which of the following expressions is correct with respect to relative permeability?
a) B = prto/H

b) B = prpoH

c) B = p/poH

d) B = prpo/H?

42

Reciprocal of reluctance is
a) Permeance

b) Susceptibility

c) Resistance

d) Conductance

43

The electrical equivalent of reluctance is?
a) Resistance

b) Inductance

c) Capacitance

d) Conductance

44

The B/H characteristics can be determined using
a) Ammeter

b) Fluxmeter

c¢) Voltmeter

d) Multimeter

45

The B/H curve can be used to determine?
a) Iron loss

b) Hysteresis loss

¢) Voltage loss

d) Eddy current loss

46

If two inductors having inductances of 30 mH and 22 mH are connected in series, then
what will be the value of equivalent inductance of the circuit?

a) 52 mH

b) 52H

c)25H

d) 25mH

47

E.M.F. of electrical circuit is analogous to M.M.F in magnetic circuit.
a) True
b) False

48

Which device converts mechanical energy in to electrical energy?
a) Generator

b) Motor

c) Transformer

d) None of the above

49

Which device converts electrical energy in to mechanical energy?
a) Generator

b) Motor

c¢) Transformer

d) None of the above

50

Which of the following is static device?




a) Generator

b) Motor

c¢) Transformer

d) None of the above




